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General Instructions :

(i)
(ii)

(iii)
(iv)
(v)

(vi)

(vii)

All questions are compulsory.

Questions number 1 — 5 are of one mark each. The answers to these questions
should not exceed 20 words each.

Questions number 6 — 10 are of two marks each. The answers to these questions
should not exceed 40 words each.

Questions number 11 — 16 are of four marks each. The answers to these questions
should not exceed 100 words each.

Questions number 17 — 21 are of five marks each. The answers to these questions
should not exceed 150 words each.

Question number 21 is a map-based question. Write its answers in your answer-
book.

Questions number 22 — 27 are of six marks each. The answers to these questions
should not exceed 150 words each.

1. YR | St & ST aTel Soil i {SeReRT 9 &l § 2
What has been the ideology of left parties in India ?

T 3o & 2
How far is the demand for reservation beyond SCs, STs and OBCs justified ?
3. WiEpide THEIAT T TEhieh o= § SR T i |

Distinguish between cultural homogenization and cultural hetrogenisation.

4, -G T it fmdr weh fafere fasivdr s Seotg i |

State any one special feature of Indo-Russian friendship.

5. Tr=fefad 5 | i 91 SR R STHhaTs & oog 39 divesh J5 T eedr o1 2

(a)
(b)
()
(d)

FIT TR
aifearm ar

Which one of the following was a part of its global war on terrorism by the U.S. ?

(a)
(b)

(©
(d)
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‘Operation Desert Storm’
Computer War

‘Operation Enduring Freedom’
Videogame War



6. 39k foraR H, T SFSYY Wfed IR FaTcHbAT hi Gg I i [T § Teh ek o7 37l
T 37T (9Rg g & UeT | 2 2

In your opinion, was Anandpur Sahib Resolution a plea for strengthening federalism

or a plea for separate Sikh nation ?

7. g (9) | ST T AT B G (3N) H KU T Fareti & A9 b 9 G A Hiw | 4x Vs =2
(30 ()
(a) ST TEIGT AT () ORAE ARER T (ATFAR-AHaRT)

EARESIED

(b) T TSH IERE (i)  SLUHF, FH GEA0H

(c) % ASHRR (iii) 1952 ¥ 1986 H T T ST WA T |
(d) STTSET T (iv) T TaH-5g fHEE @ uiEs AR S
e

Match the following leaders in List — A with the suitable statements in List — B :
List- A List- B

(a) Lal Bahadur Shastri (i) Founder of Communist Party of India

(Marxist-Leninst).
(b) C. Natarajan Annadurai  (ii)) Founder of D.M.K.

(¢) Charu Majumdar (iii) A Member of Parliament from 1952 till his
death in 1986.

(d) Jagjiwan Ram (iv) Coined the famous slogan ‘Jai Jawan — Jai

Kisan’.

8.  TECHAT 3T o SR SATHITT YRR FRT Wb a7 T & &9 | 3@ T4, 37 T o8
T FHT HINTT FTTeh! IfeT AT o 94T &5 | 2x1=2

Assess the commonly agreed upon two goals visualized by the Indians during the

national movement which have been fulfilled after independence.
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9. & ITeRieTeN W FUeH i SO H Akl STl o aiieh Sl YIHeR 1 e Hiew | 2

Assess the role of democratic negotiations in responding to regional aspirations.

10. 1960 3 531 H, ST FemIfeal ¥ eRER % &g W =01 a9e @A & fau, s9 9 91
[HEAT W B&aner fhu 2 2x1=2

Starting in the 1960s, the two super powers signed which two significant agreements

to control arms ?

11. =99 = g § guR & 96, 949 & ol W U8 39 el ar gmEl & oo
HISTT | 4x1=4

Mention any four negative consequences on the people of China inspite of

improvement in the Chinese economy.

12. g U T URYS § 9RT % W 98 & €9 § gfafte ® F3 90 F At d § 2
T HIT | 4

Why do some countries question India’s inclusion as a permanent member of the

U.N. Security Council ? Explain.

13. ST & IRUMHEET 75T hi HIETHAT i hd g6 [Hell € 2 Al Hifsu | 4

How has state capacity received a boost as a consequence of globalization ? Explain.

14, 0 9 H YR § AT 376 T HagM & dilish d deoid & & 2 SR 9 T Hifey | 4

How did the methods of voting in free India go on changing from time to time till day ?

Explain the reasons also.

15. 1979 § ST THR % o & [T SIS Tl T SHRebT T [T9eAToT ity | 4x1=4
Analyse any four factors responsible for the downfall of the Janata Government in
1979.

16. ¥R % YR A foerd & forw st uRkferfaal i we Sif | 4

Explain the circumstances that led to the accession of Hyderabad to India.
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17. = U T STeRoT 1 S Ydeh 3TEqT HioTT a7 39 IX LR Y91 & S felfgu

RTOT TR § Tiehad 1 Nehis THeT-S[eN @1 € | 30 Sas]s 1707 TR <91 b ST
AR T TR H TEHEN & | 39 &1 % urd I S H a1t & H U Hoetvr oA T
o7 | WA § FE A e g8 16 37 Ural S0 H Ak H AT S-G9 e § | 3
M H & o SR g9 & TH AN — b T 3T TS & 3R WA el bt
Feetl T THAT FIA & | T I9M ok AN MG Bl BT 3R WO Bl STYET ABe
T T & R T & 16 37k <91 & FeIw wAreers &1 3k ¢ | 3 Feh a2 wewaqul & s
TEel ¥ HHAT ST W@ & o elienca fawh forea o o=t <91 | ®ol-Bet Wb € | 29 fotert & 39
At 37T TR o SRS o SFNET | FAIhS i A¥esh FHedHT S ITERT I § |

(i)  UidMTegeTs cishas Sl CIHMar Fl SEH I |

(i) SfeToT Wi & Ot S S0 § oAhdd B TS GHAA e % SR @ faverdor
FHITT |

(iii) 37T 3T HU H Fel d% HeHd & [ Arha hael [a9el & &= 390 H & Fed-Ted Tehall
T2 1+2+2=5

Read the passage given below carefully and answer the questions that follow :

Despite the mixed record of the democratic experience, the people in all these
countries of South Asia share the aspiration for democracy. A recent survey of the
attitudes of the people in the five big countries of the region showed that there is
widespread support for democracy in all these countries. Ordinary citizens, rich as
well as poor and belonging to different religions, view the idea of democracy
positively and support the institutions of representative democracy. They prefer
democracy over any other form of government and think that democracy is suitable
for their country. These are significant findings, for it was earlier believed that

democracy could flourish and find support only in prosperous countries of the world.
(i)  Assess the popularity of representative democracy.

(i1)) Analyse the reasons for the widespread support for democracy in the five big

countries of South Asia.

(iii) How far do you agree with the statement that democracy can flourish and find

support only in prosperous countries ?
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18. FAfcfEd STeaeor 1 eyde Uigy 9T 39 UX ST U9 & ST T

SRS T Aaed % eRAT-USYH a1 |Tgfesh FHRETE Fal aial | 38 Sicrd fordlt o 9
Uifed ST T -4 Thsle &A1 3T GH STURTIST & W1 Ueh-|l HiT 3T STl & | 30
AR, SR BT T HTH AN Bl 310 SIHRI Sl AHL STITE ST o & ATk T T8
TrEl o ieha Sl TXATST | I -1 IS F ool & | IR & HHISTS TRoH agd
T&T & ST B ST T % 39 BT § Goe & | UH | T STRIeT = iehai ol STelT =Tt
g ek ST foR R E |

(i) TR % UROTHEEY TR i et Rl T 1R &1 Soei@ HiT |

(i) 31T FEl T Teud & o QTHISTH BTG = oAlshe s bl STeT Tal Ygaml s STeh!
forar T & 2

(iii) AT oh! AT q&T SR o sie o oy € 2 1+2+2=5

Read the passage given below carefully and answer the questions that follow :

Movements are not only about collective assertions or only about rallies and protests.
They involve a gradual process of coming together of people with similar problems,
similar demands and similar expectations. But then movements are also about making
people aware of their rights and the expectations that they can have from democratic
institutions. Social movements in India have been involved in these educative tasks
for a long time and have thus contributed to expansion of democracy rather than
causing disruptions.

(i) Mention any one right granted to the people of India as a result of any movement.

(i1)) How far do you agree that social movements have contributed to the expansion
of democracy rather than causing disruptions ?

(i1i)) What is the relationship between the movements and the democratic institutions ?

19. FAfIfEd STEUT 1 SAFYEH STHI HINT T 3Tk MR W [T ¢ qo=i & IW
liglicie

TRATY] 5 B TR H A1 T&Tl T T ThAH IS TS fh 396 & fasiar ®iF & — T8 ad
AT off ST BT | 3R HIE 31T I TR STEHHUT ek Ik UXHTU] BT i AT i
I HITY FIAT & T o TR % U Y FaE HA ATIH IR I S0 | J41 & wedi o
U Th-5E & qohiael 3 WER T T§HH i gt &a gral & b g off uet 75
TA FE IS AEAT | T RE, FERISdA % e e WiaglEar g % aeng nads
IR Jg 1 €T Tél o Tohl 3R ekt A 3t @l | TR 3Ty i feafa 7 g9
o &t & e, e g7 feafa arReiies widqgfgem & 7 A Feht |

(i) TERIKTE % s et Aisisan hae WS &l Fa1 Al @l 2

(i) ST IR WISkl o S & el URAT] g ToTaes T el &l el 2

(iii) 3TRIE & Th Fl WL HIT | 2+2+1=5
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Read the following passage carefully and answer the questions that follow :

In the event of a nuclear war, both sides will be so badly harmed that it will be
impossible to declare one side or the other as the winner, even if one of them tries to
attack and disable the nuclear weapons of its rival, the other would still be left with
enough nuclear weapons to inflict unacceptable destruction. Both sides have the
capacity to retaliate against an attack and to cause so much destruction that neither
can afford to initiate war. Thus, the cold war — inspite of being an intense form of
rivalry between great powers — remained a ‘cold’ and not hot or shooting war. The

deterrence relationship prevents war but not the rivalry between powers.
(1)  Why did intense rivalry between the super powers remain a cold war only ?
(ii)) Why can’t a nuclear war between the two nuclear powers be decisive ?

(ii1) Explain the logic of ‘deterrence’.

20. & FIA THATSH i ST SR Tt & VT o AT Faeg o oot e § |

e

e s amans S | HRS
T d % dfNw s g owm
%')IVI %l
{
-

\{
¥

S ST T A BT e T BT a1 Fefeiad 9at % 3o S
(i) A H I AR g a1 HI Ted-T SR 3T A fafaw |
(i) & I TS 4T IS H fohg TebR & Fereli ol S917 € 2
(iil) ITATS! ot THET 1 &l L % (o0 81 3R @S el §RT O] 74T RIehT, AT
T H, el dh THA & 2 1+2+2=5
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Study the following cartoon carefully and answer the questions that follow :

\ ~ No No, Don't Get up
X yournghness Just give
me th[s That WI|| do

Q« ~

Ex(erna\ Aﬁalrs ﬁ 1 y
Defence I 'l“ }‘ -',’

uuuuuuuuuuuuu X

This cartoon comments on the relation between e~ — |
the people and the rulers in the Princely States.

(i) Identify and name the leader shown on the right in the cartoon.

(i1)) What type of relationship does the cartoon indicate between the people and the
ruler ?

(iii)) In your opinion, how successful was the approach adopted by the leader on the
right to solve the issue of Princely States ?

AT Tefaiad 7o Fae gheartad wieteat & o ueT T@ 20 % = W E |
T fzu o gt % 3 T
20.1. STATERETE EE i Ugel HHAUREE § SU-HEHHA S o 2
20.2. TEHAUA W TR FH F gd, AT % TERST ®l IRA TWEHER FR1 T
TS e T o 2
20.3. EEUER B ST H | W 1 A A % foog e e AR AT ? 142+2=5
Note : The following question is for visually impaired candidates only in lieu of
Q. No. 20.
Answer the following questions :
20.1  Name the Deputy Prime Minister in the first Council of Ministers under
Jawaharlal Nehru.
20.2  Before signing the Instrument of Accession with the Indian
Government, what assurance was given to the Maharaja of Manipur ?
20.3  Which section of the people in Hyderabad rose against the Nizam and
why ?
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21.

|
i
|

Political

Scale 1:179m (Approx)

)

o

e M

few T fava & s @ amtas | O 3w (A), B), (©), (D) @ (B) 3% 39w 1w

£ 17 < TE BRI % YR WS YT a3 W, WA Sl TE BRI Bl A
T qT ety 318 I I 7T dMfereht o &9 & 79T STR-gRrert § faf@y |

59/1/3

(i)
(i)
(iii)
(iv)
(V)

TN 1 T AHRY Bt HH TEAT

HaAfaa v

9T H/T AW

(1)
(i1)
(iii)
(iv)
v)

T I ST ST 1992 H Gl THHe g3 o |

T &3 TG T T ScasTehdl 39T |

aty-Tared, Tt sranet ARl & foT ST ST o1e 397 |
FIISI-TISIHICT S aTeadrat § Tar T@M 7T 397 |
ferear & @t et 1 ER TR S G ST SR A9 |

5x1=5

[P.T.O.



, WORLD
/ Political

Scale 1:179m (Approx)

i

i

In the given political outline map of the world, five countries have been marked as

@, , @, @ and @ Identify these countries on the basis of information given

below and write their correct names in your answer book along with their respective

serial number of the information used and the concerned alphabets as per the

following format :

Serial No. of the information

used

Alphabet

concerned

Name of the
Country

@
(ii)
(i)
(iv)
v)

(1)  The country where ‘Earth Summit” was held in June 1992.

(i1)) A leading contributor to green house gas emissions.

(ii1) A country known for its anti-dam pro-river movements.

(iv) A country exempted from the requirement of the Kyoto Protocol.

(v)  The second largest producer of crude oil in the world.

59/1/3
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22.

23.

e FAfafad 7o Faet gieantad Tt & foe wes @@ 21 & ©H W E |
e 5T T U9 % 3T fefau
21.1. ST I H AW fARET ST 1987 | Hifeae FHT T B&d1eR T 7T |
21.2. 39S AW fAREw S@T 1997 | et Hiewhiel W WeAtd -1 2
21.3. “Trl & 3oGST % 9207 & U@ SRR faeiad <9 & & 17 I giteshior
T fFg 39 T E 2
21.4 ST STETIHT B I AT ST 319 -SRI o 7T ST ST & 2
21.5 <RIOT LR % ST I I Sooid HINT ST ol & e ST F 3Fdd o

AA @ | 5x1=5

Note : The following question is for the Visually Impaired candidates only, in lieu of
Q. No. 21.

Answer the following questions :
21.1  Name the country where ‘Montreal Protocol’ was signed in 1987.
21.2  Name the country where ‘Kyoto Protocol’ was agreed upon in 1997.

21.3  Which country mainly advocated the view that the major responsibility
of curbing gas emissions rests with the developed countries ?

21.4  Which country from North America is known for its forest movements ?

21.5 Mention the South American country which is facing enormous
pressure due to deforestation.

YR H T TRHR TAT =AGITRT o ST TS T ST 3 ATt FATHAT T IRIEI0T BT |
AT
1969 T UIET o foRIIS & U9, HIUT UUMCH i YO & foTT STRaml uRieidar s
fargeror ST |
Examine the developments that gave rise to the conflict between the Union
Government and the Judiciary in India.
OR

Analyse the circumstances that led to the restoration of Congress System after the
Party’s split in 1969.

YR & TRt 5T STERIHN & W1 hdd Ge §H 6T, TqT el WA | Jaterd foh=el di=

giteehiuT & favetor ST | 3x2=

AT
YR 3R TR & S TREARE Faei § Fawgi 1 favetsr Sifsw |
Analyse any three different views within India about the type of relationship India
should have with the U.S.
OR

Analyse the differences in relationship between India and Bangladesh.

6

6
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24, T U G IR o Y TR GIF I STell o foTT TRiferd diF AT AHSUSl T i
HITT | 3x2=6
AT
G 1 TR T o T Al & SFed A Teelt FEMHIRal Sl Fu iy | 6
Describe the three new criteria that have been proposed for new permanent members
of the U.N. Security Council.
OR

Describe health epidemics as the new source of threat under the non-traditional
sources of threat to security.

25. ST 3R HYHR HI ISHIT Bl FRER Tamsmeog s & e StRardt amer a2 siidies faarst

H IO DT | 3+3=6
Jreran

ST e & gog o 9vEd, FRA ® Ao W SOH TE SieH Aol el aF T

IATET T U T | 3x2=6

Describe the external and internal disputes responsible for making the politics of
Jammu and Kashmir continuously controversial.

OR
Describe any three major developments that left a long lasting impact on the politics
of India after the death of Rajiv Gandhi.

26. Ags A B [e-RUS SAReH § YR A fRY UER Wewqul g R 0 s

HITT | 6
rerar

forva &1 TER TR T FaAgH IKIIA! 391, Wiioad Ta F41 foated gam 2 e S: RO T

FHINT | 6x1=6

How did India play a crucial role in the Non-aligned Movement during the Cold War
period ? Explain.

OR
Why did the Soviet Union, the second most powerful country in the world,
disintegrate ? Explain any six reasons.

27. 1962 % U¥ETd YRA-9 Heei W U THIET 1 [Geeror HifT | 6
AT
IR 30T faser i 6t wifagor &7 ¥ ] A T Iag Tl ¥ 59 W H Hel ah
THA TET ? TN S T HIT | 6
Analyse the impact on Sino-Indian relations since 1962 onwards.
OR

How far has India been successful in conducting its foreign policy peacefully and
avoiding international conflicts ? Explain with the help of examples.
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